1)02FF 2D ?

311]1%?39 ?

37112%?5.) ?

24T T 2D ?

Whatis 1plus 2?

What is 3 plus 1?

What is 3 plus 2?

Whatis 2 plus 4?







H24MFTF3?

24 N2FF7 2

HAM4ETF5 ?

T AD03F T4

H 2. 7065%F8 2

What plus 1equals 3?

Number structure 2

What plus 2 equals 7?

What plus 4 equals 5?

Number shructure 2

What plus 3 equals 4?

What plus 5 equals 8?






128/ 2 What is the total of 1 plus 2?

2042 2%/ ? What is the total of 2 plus 4?

1N03R 2/ 2 What is the total of 1 plus 3?

305222/ 2 What is the total of 3 plus 5?







6 E3IRB/D 2?2 Whatis 3 from 6?

Subtraction

What is 2 from 5?

Subtraction

ARNF2RLZ/D?  Whatis 2 from 4?







[ separation ]

H2.004%F72? What plus 4 equals 7?

H2.009%:F109? What plus 9 equals 10?
|

H4002%5F8? Whatplus 2 equals 8?

_Seporallon

H4002%F49? What plus 2 equals 4?




Pulonthe
| soore sticker |
e

” “Putonthe
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’Puton the
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hegens




8H2%TF22/)» ? How much is 8 plus 2?
Combinaton

4N2Z&EF 2/ 9 How muchis 4 plus 2?

6/01%5F 2/ ? How muchis 6 plus1?
|

3| |2

3M2&EF 2/ 2 Howmuchis 3 plus 2?
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